EARAZROREIERT — 2 N—XBISY —F 20135F2R22H (£) 25mEEZHESH

m—l‘_ﬁﬁg B9 #7%—#% ‘ (%E] W ‘ (mEsm] — | 4 (A) 16000 B
[AE4£)] 1% :140,000 ™ ~ 2% :25000M”  33%&:10,000 "  4%&:7,00H ~ 5%&%:0MH
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Sov s = KIBAEE 143. -1-1- . — HFLE— (BHE)
ilg [ vetrsqs o7 Py 1(4_3)5 1-1-1-1 | 38.7 2 (4_738) ArLIm
L:aAvE—A>F—7 B:a2h/NL)—F Elize]
S 4 5 | FEEREH 1:44.0 6-6-32 [38.9| — 1 484 |FLE (BHE)
2 6 T LYY 56.0 (2 1/2) (o) | AfEELE
L:T7LBAT49 77148 BNZ5T7T7U—¢ RGNS
. > 6 | AMLUETT 1:45.0 5-5-6-4 |39.8| — 5 486 | BEE (BHE)
3 2 Za_"]"]’ b - 56.0 ’ (5) (-3) (#%) 77— bEYI3 >
L:FaSLHN B a8k
354 i 7 | ARRE 1:45.1 3-3-5-3 | 40.1| — 6 456 | HEE (BHE)
4N 4| S77HR 54.0 (a/4) (o | W) 7r-xbETa>
R:ETY w1 ¥x B:YvZ—-IJXTLZX L—ZKk—2Z
o= 410 | WTFHZ 1:45.2 7-7-7-5 [39.2| — 7 495 Woh— (BEE)
517|7 NZ /) FbtEA— A53.0 (3/4) (+4) (B) *=X457
RHIITF bt — BAYIAY-—E—h INEHS
L E— .45 4 . _ wROFEE (BEHE)
618|821 W77 =3F o6 ¥¢53.0 1(14/52)3 s 02 ’ :_814) Wi
L:T77UV—h BITERANITY i cie )
N BHEA : -9-8- - SBREX (BHE)
7 NEESEE DI 41 B 1.(?).0 9-9-8-8 | 39.4 8 (4_620) gl
R:72157 B:YFIa-Y [y vie]
o5 7 | BEAE 1:46.2 2-2-2-5 |41.3| — 4 480 | HEMARIE (BHE)
glglg| AE>E—O— 56.0 ) () | B
RNTNHL7zA—- B/ HT— [t ]
o5 = = > 8 | RFIFFAER 1:46.4 8-8-9-9 [39.6| — 9 434 Woh— (BEHE)
9|55/ 7Y T¥IILA R M) s | (B) A=25F
L:aAvsd—A4>F—7 B:O-Lidzavy L2 BEHS
® I—F—@EBIERL
13—7F— 1,9,4,8,2,6,7,5,3
Ao=5"= 1,9,4,8,2,6,7,5,3
3T—7— 1,9,6,8,4,2,7,3,5
40—F— 1,6,4,2,(7,8,9),3,5
[ N5
B 1 520M 794K 1-6 210 & 1-6 530/ &R 1-2-6 2,000/
% B 1 170 1-2 610M | | B = 1-6 510 | | 3E=E 1-6-2 14,410/
6 110 2-6 330M B H 1-6 1,630/
2 290/

ABICOVWTRDTEEERROODE. TR LIV,



